
Física General 2019 

– Práctico 2: DINÁMICA – 

Respuestas – Por Héctor García. 

 

 

1) a = (3 m/s2,1.5 m/s²); a = 3.35 m/s². 

 

2) i) N = P; 

   ii) N = P – Fsen(α); 

  iii) N = Pcos(α); 

  iv) NA = PA, NB = PA + PB; 

   v) NA = PA – Fsen(α), NB = PB +PA – Fsen(α); 

  vi) N = F. 

 

3) a) T = 3920 N. 

    b) T = 4720 N. 

    c) T = 3120 N. 

    d) T = 0 N. 

 

4) a) a(0º) = 4 m/s²; a(30º) = 3.46 m/s². 

    b) F(0º) = 12 N; F(30º) = 10.4 N. 

 

5) F = 30 N. 

 

6) a = 1.99 m/s²; µ = 0.24. 

 

8) a) T = 36.75 N. 

    b) a = 2.45 m/s². 

    c) x(1 s) = 1.23 m. 

 

9) a = 4.05 m/s²; T1 = 4.6 N; T2 = 0.7 N. 

 

10) a = 5.26 m/s²; T1 = 68.1 N; T2 = 24.6 N. 

 

11) a = 4.9 m/s²; α = 54.72º. 

 

12) a) F = 33 N. 

      b) d = 12.73 m. 

 

13) µe = 0.48; µd = 0.31. 

 

14) a) T1 = 78 N; T2 = 36.15 N. 

      b) µd = 0.65. 

 

15) a) a = 3.49 m/s². 

      b) a = 0.67 m/s²; T = 131.8 N.. 

 

16) b) 3.7 m/s². 

      c) 8.7 N. 


